HEREREAR (FERD)

Fo—XBE

B H ¥/ B ENE BRI 14 2% 3%
HiIE gk gk
BAROEE RROEFE 2 2
Sk EL el 2 2
B HE |REEE R E 4 2
P ERE SO ERE 4 2
* FIERE FERE 4 2V 2V
PR MR A 2
= i |[Emea i 2
kR R A H e R & 2 20]
2 B AL AL 2 2
R - 1R BUE - #35 2 2
Bl Bl 3 4
el Bt 4 2
% |EKEA BFEA 2
* 6 AU TR 2 20
* LU FEREHCY 2 20
Bl NHEAETE Bl NHIATE 2 2
I B |4 e L 2 2
AW RS A IR 3 3@
" & |KF 5E) 7~8 R ®G) R (©2) R (©2)
L (35 2 1 1
e HH 2 20
= M |EmI ESiR! 2 20
HhE 1 ESE 2 20
Yrhala=r—iar | YFEaZa=r—sar | 3 3
YrEala=—Tar 1l PiFala=r—anll 4 2 2
o = FmE e R B | TPl KRB 2 2
A - R B AP KB 2 om
A - R B A - RELI 2 2%
* BEEEIRE JRERS 4 2 2
£ BE |[FEkds FRERA 4 2 2
15 ] O|EEI T 1 2 2
C HBERBEEMHK B 24 19~23 16~23




Boo—R-FER
B H 7 | ENE BRI 14 2% 3F
= RivE Bk Bk
AR — i ZR—I 3~4 1 1 1
2HE— 1 A 1 3~6 2 |
HIRAR—Y 1 2@
ZHE— T A 1 3~6 2 |
HIRAR—V I 2@

ZAR—V I ZAR—VTI 3~6 1% 1% 1%

ZR—VIV ZR—VIV 3~6 1% 1% 1%

ZR—IV AR—YV 3~4 1 1 1
K B ZIR—IVI ZR—VI 3~4 1 1 1

AR AT AR —HRA T E 3~4 1 1 1

* B FEHL HIBFEH 6 3 3

*RFHREE KRB R 4 ov PA 4

k AR — Y PRSE AN PEGE 3 3¢

kFL—=U T HEEA "o—= 7 EEA 2 2|

khL—=2 73288 r—=07%E¥EB 2 2%

sk ZR—VEH AR —V1E® 4 2| 2%

sk AR—Y R AR— FE 2 2] |

%y )T AR—Y F¥UT AR—Y 2 2%
D HMHBEHEMK B 9 10~14 10~17
E  $#5EE (h—L/L— LB 1(39) 1(39) 1(39)
F RENTIERORME 1 1 1
C+D+E+F BLf-UiBERBR i 35 35 35

%% () FEIIDELESEMB(T4) BN ARPOBRBTREEMI(102) B

(@) *EIFFRBERBERT

Q) TABEI7EAIEX 1 ERTRKR—Y I 12BHE1ERTRAR—Y O |28 11 ~3ERAR—YMFZRR—YIV
SHUTRETS,

@) BERIZBEVWTR—0RESMS1RBERY %,

(6) T* FHERIERE LB KKFRER, NRTYMR—IL AR R—IL Yoh—  NL—R—)L, BBk, &, RIE
ANEYE S



